INSTALLATION INSTRUCTIONS

Crystal Shrouds - W7

Important

e We recommend that this product is installed by a qualified professional contractor. Such as a plumber who is certified by NVQ
(National Vocational Qualification) or SNVQ (Scottish National Vocational Qualification) Level 3.

e Please check this product immediately to ensure that it has not been damaged and is complete. Before installation, please make
sure this product is the correct model and you have all the parts required for installation and using.

e Please read these instructions carefully and keep it for future reference.

Installation Dimension

~
~

NP \
—

SN N

—,

2mm &, 180
ALLEN M4X3 Eg q
KEY  GRUB E @45
\ SCREW E; '

(5™)<«—— COVERNUT
l B

«—— G3/4" HOSE
g &
X SN -
A IR )+ |
o <—— STANDING TUBE
T NN == j=-‘]<— BRIDGE JOINT £
T £
M5X4 s 17
T GRUB T S 3 2
2.5mm  SCREW g “
ALLEN 8
WEV <— CONCRETE FLOOR SCREW 2
[0]
M4x3 £
2mm
ALLEN GRUB WOODEN £
SCREW )
KEY FLOOR S
l SCREW x
w0
69
@100 2'G3/ !

. Prior to installation, please flush the water system to ensure that no metal swarf, solder and other impurities can enter the product

. Turn off the water supply at the isolating valves if fitted or the main stop cock prior to commencing work

. Build up two water inlet pipes from the ground at 180mm centres. From the front view, hot water on t he left and cold on the right.

. Fix and tighten two G3/4” connectors onto the ends of the water inlet pipes
Note: Horizontal feed pipe under floor must have a degree of freedom to move up and down.

. Place the Shrouds over the water inlet pipes and mark on the floor the location of the fixing holes on the base plate. Drill and insert
raw plugs where necessary

. Remove the washer and fixing nut supplied with the taps and discard them

. Remove the Cover Nuts from the shrouds by loosening the M4 x 3mm grub screws

. Screw the Cover Nuts and flexi hoses onto the tap tails

. Slide the Bridge Joint onto the Shrouds and tighten in place with the M5 x 4mm grub screws

0. Slide the flexi hoses through the shrouds and fix the Cover Nuts on place with the M4 x 3mm grub screws, ensuring that the taps

are facing in the right direction

11. Connect the Flexi hoses to the G3/4” connectors

12. Push the Shrouds down into position and secure to the floor with the fixings provided (2 types of fixings supplied — one for

brick/ breezeblock and the other for a wooden floor. Finally put on the caps .

[&)] AW N =

= O 00 N O

Maintenance

We do NOT recommend you use any household cleaners to clean the product. Because these cleaners change substance or formula
too frequently. The product should be always cleaned only with soapy water and rinsed with clean water and dried with a soft cloth.

1-1



